FE—ENTS

1.C 2.A 3.C 4.C 5.A 6.B 7.A
8.C

9.5, +8, =S5,
13.

14.

15.

10.16 11.2.5 12.10
fif:BE LEF, FLEANT .

P& DF =x 1|l DC =AB = BC =4x,

JFLL AE = ED =2x ,CF =4x —x =3x,

£ Rt AEDF v, EF* = ED* + DF* =
(2x)% +4% =527

TE RtAAEB W EB* =EA* +AB” = (2x)° +
(4x)* =20x;

1E RtABCF ¥ ,BF* =BC* + CF* = (4x)” +
(3x)% =254,

Ak EF* + EB* =BF* )i L ABEF & 5
=, Ll BE LEF,

ff. S /A =90°,AB =3 m,AC =
4 m,

FFLAL BC* =AB® + AC* ,Jif4 BC =5 m,
KK I7TIE BCDE H BE =3.6 m, fi LI
Ji% BCDE W1 AUR 5 3.6 =18(m’)
Rl B 1% 1) R A% 24 20 em x 30 cm =
600(cm’) =0.06(m*) , fif LA i 2% fit
18 +0.06 =300 (k) ,

fift: (1) AABC JEEHM =ML, BT
A JBE R, 158 AC* =3 +2° =13, BC* =
82 +1° =65,AB> =6 +4°> =52, [H N
AB* +AC* =BC”,

FIr LA AABC 25 A —fE .

17.

16.

18.

1

1
(2)S s upc =8 X4_EX2 ><3—2 X 8 x

1 —%x4 x6 =13,

fift 1% AB J 3x cm,BC 4 4x cm,AC H
5x cm,

KR KR 36 em,

AB +BC +AC =36 cm,

FFLA 3x +4x +5x =36,

G =3,

fiiLL AB =9 cm,BC =12 ¢cm,AC =15 cm,
=k AB* + BC* = AC”,

FIF LA AABC R Hf =ML,
H3s)E,BP=9-3x1=6(cm),BQ =
2x3=6(cm),

, 1 1
FLA Sapng = 5 BP = BQ = x 6 x6 =
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30 +10x,
(2) 4 x =20 B,y =30 +10 x20 =230,
RITISE A S 2 Oy 230 Jt.

i B ZR L YRR BERIBACN y =ha + b,
AR k= -2,5%(0,2)fkA y =kx +
bigb=2, . HZ&IMRERE Ny =
-2x+2,

fift: (1) 6 AC0,3) 5 B(1,5) LAy =
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FIFLAIE A% HA R BREERIA A v =20 +3,
)l (1)1 y =20 +3 % 2= -3 LA
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A5 140 =4 x40 +b, fif#tf5 b = -20, L)
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B TP RO 20 1, 464 T

B RARTF I 40 60 T,

17. . (1) ARARBET y =m - 6x,
(2)Ffx=7,y=-26 LA y=m—-6x,1%
—26=m-42,[AK m=16,

Jr LA S i [ < 16 °C

ol x=12>11,

Bl y=16 -6 x11 = =50(°C) ,
RSB RALEE M TAT 12 km B, KALIR
M -50 C,

18. it (1) [ 0 M ARy =x OFR

L HEE AR AR 2, B DA i M9\ Ak bR
H2,

5 M(2,2) e — KR y = -~y
b I L
Fﬁﬂ—%x2+b:2,ﬁﬁbjb:3,

B KRB y = — v +3.
L y=0,fFx=6,
fir AR A AR5 M (6,0) ¢
(2) HBEEER B(0,3),C[a, = ya+3),
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j@OB:CD,FJ?I),{a—(—;a+3):3,
firLh a =4,
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Kb 4% MRIEEE
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A x kg, B XA EAS Y/ K (2 000 -
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Ay 5y =20% + 5 ) Z20x +
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ey =12x +16 000 H,
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10.5+10.2 +10.3 +10.6 +10.4
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14. f# . (1) A SFAIZEA RSTH 85 x50% +
95 x40% +95 x10% =90(4)) .
(2) MR, 159 95 x50% +85 x40% +
10% x =90,
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9+8+7+7+9
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x[(10-8)> +2x(8-8)" +

2x(8-7)*]=1.2,

sy = L><[2><(9 8)+(8-8)"+2x

Ul

(8-7)%]=0.8,
KR st > 5%,
FrUA Z G R = B RS E T B o
i (1) ¥ Il Bs =S o 73,7575,
79,80,84 ,84 ,85,86,89

80 +84

FIrLL R AN =82(min) ,

%Ziéj%&ﬂyllfox (73 +75 +75 +79 +80 +

84 +84 +85 +86 +89) =81 (min) ,
(2) (1) P A%k 82 min, 1i/NH Y
W& 81 min, HU/NH I B G AL T R A5
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W2 34 T3 38 T3t W A BH

34 +38
2

MR AT, S B R0 34 J1onm € 5 i
Z WK 34 TG,

(2) XA HAsnl LLE A& A 39 J1ot.
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13. JEBH. - AD // BC, .. /EAD = /B,
L/ CAD = /. C,
" /C=/B, .. LEAD = £/ CAD, .. AD
Sy £ CAE
14. (1)3EBA : aniAl .
D
A
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 CFY4y2DCE,.:. /1=/2 :%LDCEO

+ /DCE=90°,.:. /1=45°,
W £3=45°0 /1=/3,
- CF [/ AB( NEEFIAIAE T EHZTAT) o
(2)f#. 2 D=30°, /1=45°,
. /. DFC =180° -30° —45° =105°,

15. fft: % LA =x,0| L EDA = / CDB =5x,
-+ DE LAC, . / DEA =90°,.. 6x =90°,
o /A=x=15°, L EDA= / CDB =75°,
./ CDE = 180° - 75° - 75° = 30°,

.. L BCD=/DCE =60°,.. LACB =120°,
. LB =180° -120° - 15° =45°,
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L1+ £2=180°, 22+ £3 =180°,
o /1=73,-.AE//DF, . /A= /DFB,
wLA=/D,:. /D= /BFD, . AB//CD,
17. f# . L ABC =/ ACB=2/A,H /ABC +
LACB+ £A=180°,. .2 LA +2 LA +
LA =180°,ff1F LA =36°,
. LABC = £ ACB =72°,

 BD J& £ ABC W44k, .. LABD =

%x72° =36°,

wCELAB,.. £ CEB =90°,.. /BHC =
L CEB+ £ ABD =90° +36° =126°,

18. f#%. (1)100° 90° (2)90° 90°
(3)90° FERAIT -
KA 23 =90°,FrLL 24 + £5=90°, X
M EM Ll =2 4,25 =26,0TL)
L2+ £7=180° - (45 + £6) +180° -
(£1+24)=360°-2,4-2,/5=360° -
2( 44+ £5) =180°,
HY [ 5% N ff B, T B 44T AT
m//n,






